FESoRI AT RARMFZRERKKHRRKRE

EFEEF

2023/8/27 MEEMNHRET—I
& P EL s wE 6 ] vay M
BH BX EE EF+ KX EX R —i& I 955l (B
EiE = ZH R =FE TH #mH ki liEg X&H i3
21— HOfE#X hig A W B =i R & s FE = BE
) L— INFR BRAE £ R KRtk BTH KA 2E $F 5 i [EE BRE
4x100m 4:00.68 4:30.06 4:43.55 4:43.82 5:10.42 5:41.21
(E—ikH) 56.59 1:01.99 1:14.71 1:07.93 1:05.83 1:25.25
¥ P EL W e
BH BX BT H EFE E#& BiE R
\ HOfEHEX e £ R KRtk 2E $2
AEL— ki i T hIg A TH FR
) L— ERN #HhK EF Z=H m EXR R
4x100m 4:36.54 4:44.27 5:17.62
(BE—ikAE) 1:06.16 1:09.79 1:30.45




b L Y 4
ELEIEEE L b g e k3o b S S P EFERT
2023/8/27 MARIKRET—IL
R
BEGEY
ANH %07E
21— k% R
) L— ZF KB
4x100m 4:37.16
(5B —ikH) 1:05.15
R
=8 =XE
&k MR
AFL— HEGEY
) L— ZF &8
4x100m 5:19.45
(5B —ikH) 1:25.58




FESoRI AT RARMFZRERKKHRRKRE 2B+

2023/8/27 MEERIRE T
1 kR % |2 HE OBW |3 MW OBE |4 WEELH |5 BA RE |6 AR Bk |7 #B #E2|s +tH #ER
BE |k o |EEhEa 2 |#HFRE 2 |3 2 | g5 2 |ILE o2 | BT E 2| R 2
50m 26.02 28.03 28.79 28.82 29.88 29.98 30.09 30.32
1 M OB | 2 WEEZN |3 R M |4 KRB R |5 HA BE |6 ERN A |7 2B $T |8 EA M
BER @R 2 | o2 |FEE 2 | 12535 o2 | AT E mh2 |4 2|8 2|8 Fh2
100m 1:03.94 1:.05.73 1.06.51 1:07.05 1:07.95 1:10.14 1:10.77 1:13.94
|1 EF K@ |2 EE KA
BEE  |(mEhgH 2 |EstEs 4o
400m 4:44.34 4:48.00
e e 1 RA/NEE |2 MHEEFEAE (3 HA K4 BHE E |5 A R |6 M &Y
RS 8RS b2 (MAMER 2 |EethEi  42|R 2 (lLE 2 [lLE 12
100m 1:.02.11 1.08.87 1:12.19 1:12.58 1:14.60 1:19.79
|1 EH OBA |2 EF AM |3 I8 BA |4 SEH |5 HOBEK |6 L #3) |7 BHRK BE| s BE BN
FkE | fo|AEhEE 2 |EE 2 | i 2 |4 2 [ EE f2|ILE 2 | 12
100m 1:10.01 1:16.08 1:18.40 1:19.01 1:19.69 1:23.08 1:26.14 1:27.99
o 1 RB/NEE |2 ik #% |3 BEH BK |4 HEFEKB |5 BHE |6 =@k BR
NZI54 8RS th2 |4 mh2 |#% 2 |[AMESR A2 (R 2 |[EEhEE o2
100m 1:00.30 1:01.11 1:01.55 1:03.94 1:.07.69 1:09.15
. 1 5% f |2 HEOBHEA |3 hIE @A |4 @A ER |5 kE BN
BA* FL—|ti5 fh2 | # 2 R 2| 2 |[BES i12
200m 2:26.99 2:31.62 2:38.84 2:41.79 3:31.45




FESoRI AT RARMFZRERKKHRRKRE

2023/8/27 MEEIHRET—IL
) 1 BREBFEY |2 Ax BE |3 S i |4 FE WP |5 =H O B|le6 R OBE| 7 BE BH
BEf |g 2 [ILE th? |57 2 | 2 (44 B 1| tho [ h |8 & th2
50m 28.80 29.62 30.89 32.78 35.55 36.67 42.58
) 1 BREBEY |2 B8 B |3 FE MR 4 R O BE |5 =H 00&
BEf |g ch2 AT 30 2 | th? |3 2 |41 AE 1| th2
100m 1:03.26 1:07.75 1:11.02 1:19.33 1:26.67
) 1 RF KB | 2 KA 1 | 3 IE =M
BHEF |R tho | g th |FkE G h )
400m 5:15.62 5:24.86 5:57.66
e 1 NBR SRR | 2 GEE METE | 3 BH BB | 4 RS BiE |5 I EM |6 KB M
RkE |5l o2 | 2 |EE R %L 2 A 2 |[RREFEHR 2R ih12
100m 1:12.37 1:12.78 1:15.20 1:20.96 1:22.19 1:28.14
o 1 EBR LT |2 B BE |3 EE MR |4 S RiE |5 £ BR
FAE  |mEh%EH 2 |REd th) |§ ch2 [352 tho |8 & h)
100m 1:17.10 1:27.45 1:32.53 1:34.29 1:44.35
. B 1 NP OEER | 2 WK B 3 TR KB
NEZ T4 |5 BN 2 (4% F2 R 2
100m 1:09.87 1:12.77 1:19.10
. 1 EE OSTF | 2 M METE |3 B BE |4 Ax BE |5 BIR E£ |6 WA BFE |7 kE R
BEAAFL—|EEdh%s to2|HE b2 |EEth%s  d2|LE 2 [#E L tho |42 ) |58 )
200m 2:32.92 2:37.67 2:40.40 2:42.88 2:43.43 2:44.29 2:53.78




FESoRI AT RARMFZRERKKHRRKRE

1F58F

2023/8/27 MERIBRET—IL
1 EE E# |2 2@ B |3 LERgEN |4 WE KBE |5 IE BEZ |6 BIR LT |7 WE BR |8 #HLE =K
B |HE 1 (4 1 (R 1 (S4B I SRR fllEEPES h1|sel 1 |1 i1
50m 27.09 28.18 30.78 32.06 33.40 36.21 36.69 36.83
1 ER E# |2 B@ B3 |3 LBHMEZN |4 WE BRE |5 IE B
BE®  |mE B[R 1|3 i1 |shHE I 1 | L i1
100m 59.75 1:.02.75 1:06.90 1:09.61 1:15.54
1 IV B
BEf |k 1
400m 4:47.64
e |1 R HOE | 2 ERKR K
HikE | 1 FAE T 1
100m 1:14.89 1:40.37
1 FPE 8T |2 thAKFEW |3 & HBE |4 REBKRE |5 HH B2 |6 A MH | 7 FEXEE
FRE  \HEREH PR i1 s 1 |3 1 (ILE i1 ARl i1 |4 i1
100m 1:16.23 1:19.01 1:28.76 1:44.05 1:46.23 1:50.47 1:54.08
o 1 ERRRW | 2 BAO RBE
RBTS5A |gm 1 |FAKMER 1
100m 1:15.38 1:20.62
. 1 ¥ fgF | 2 B0 RBE | 3 kB RE
BAA FL—mEh%s 1 |AHEHR s sl i1
200m 2:37.25 2:52.94 2:55.12




FESoRI AT RARMFZRERKKHRRKRE

1F&F

2023/8/27 MERIBET—I
’ 1  Jk’EEAHE JEER  ERF] A T |4 TH WK | S 6 HHA EZE B | 8 HEA =E&H
BE®  |HE 1 = h1|fKMES H1[LE R h1|8RE
50m 30.15 33.41 33.86 40.40
|1 e LIRS EES ME |4 PE BE |5 &2 B |6 BE £ N FE
BB WE f1 Fi1|FAKRKMESR  P1|R 3 ==)|
100m 1:05.80 1:06.63 1:17.50 1:44.78
1 Ha
HEE |z
400m
e |1 EE £ HL
HiKE FUK M E = 1 1
100m 1:26.49 1:32.39
L 1 1RH BiE
FikE (e 1
100m 2:15.70
o 1 G5 =
NZ IS4 s 1
100m 1:20.33
BAARL—

200m




